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TIPS ON SENTENCE

REARRANGEMENI

Connectors:
Connectors are those which connects

the two sentences. Connectors are of
two types. They are

1. Supporting or positive connector

2. Contradictory or negative connector
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Supporting  |Contradictory

IAnd But
Similarly However
Like wise Despite this

In the same |[On the other hand
vein
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TIPS ON SENTENCE

N

REARRANGEMENI

By knowing the supporting and contradictory connectors, the
arrangement of sentences is easy.

Example: John and Sam goes to market. (Supporting
connector)

John goes to market but Sam goes to school. (Contradictory
connector)

Words in the beginning and end:

Some words usually gives hint if observed with proper
attention, that from which the sentence starts and from which
the sentence end.
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Beginning End
Firstly Hence
First and foremost In conclusion
Initially Thus
Firstly, secondly, Therefore, last but not
lastly the least
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It is not compulsory, whether the above
mentioned words present in each and
every jumbled sentences or not. but if
present then it is easy to solve the
jumbled sentences.

Words in pairs:
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If only then
Either Or
Though Yet
Neither Nor
Not only But also
Former Latter




SSC CGL/CHSL TIER 2 (CRASH COURSE)

TIPS ON SENTENCE

REARRANGEMENII

Concept

Rearranging Sentence in a paragraph — Sentence
rearrangement is a vital point and which
additionally simple, the candidate need to see just
tenses and trick that is basic for all types of
question asked. The candidate will have a passage
in breaking sentences and need to revise in proper
order in appropriate arrangements to make the
original passage.
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We are provided with the first part of a
sentence. The remaining sentence is
broken into four parts labelled (P),
(Q), (R) and (S). You are required to
arrange these parts so as to form a
complete meaningful sentence and
then choose the correct combination.
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1. The decomposers

(P) and hence help to clean the environment j \
(Q)help in decomposing the

(R) dead bodies of plants and animals
(S) and put back various useful elements into soil, air and

water.
A. QRPS Solution: The correct order is QRPS :
B. PQRS “The decomposers help in
C. SRQP decomposing the dead bodies of
D. QSRP plants and animals and hence help to

clean the environment and put back
various useful elements into soil, air
and water.”

Hence, the correct answer is option A.
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2. Jawaharlal Nehru

(P) under the Cabinet Mission Scheme
(Q) was the first to articulate
(R) long before such an assembly was set up

(S) the idea of a Constituent Assembly

A. RPQS
B. PQRS
C. QSRP
D. SPQR

Solutions: The correct order is QSRP :
“Jawaharlal Nehru was the first to
articulate the idea of a Constituent
Assembly long before such an
assembly was set up under the
Cabinet Mission Scheme.”

Hence, the correct answer is option C.
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3. Work is the one thing
(P) and without it

(Q) that is necessary

(R) to keep the world going
(S) we all should die

A. PQRS

B. QRPS

C. SPRQ

D. QRSP Solution: The correct order is QRPS :
“Work is the one thing that is
necessary to keep the world going
and without it we all should die.”
Hence, the correct answer is option B.




SSC CGL/CHSL TIER 2 (CRASH COURSE)

4. A four-year study o —
(P) That babies feel more comfortable ‘ '
(Q) conducted by the Infant Testing Centre

(R) around other babies than with strange adulits.
(S) clearly suggests

A. QSPR

B. PQRS

C. SRQP N\ | |
D. SPRQ Solution: The correct order is QSPR :

“A four-year study conducted by the
Infant Testing Centre clearly suggests
That babies feel more comfortable
around other babies than with strange
aduits .”

Hence, the correct answer is option A.
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5. Long, long, time ago

(P) Who lived with his virtuous wife —
(Q) in a country called Chinchinchoo m
(R) there ruled a noble king

(S) and seven daughters- pretty, graceful and well-
versed in fine arts.

A. PQRS

B. RPSQ

C. QRPS Solution: The correct order is QRPS :
D. QSRP “Long, long, time ago in a country called

Chinchinchoo there ruled a noble king
Who lived with his virtuous wife and
seven daughters- pretty, graceful and
well-versed in fine arts.”

Hence, the correct answer is option C.
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6. Milton said that
(P) Those persons —
(Q) would be damned IM'
(R) who do not obey

(S) God’s commands

The Correct order is

ANDURS Solution: Th t order is PQRS
B.SQRP .o said that Those persons
C.QPRS would be damned who do not obey

D. QRPS God’s commands.”

Hence, the correct answer is option
A.
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7.1 was

(P) And stay for a few days in Delhi
(Q) when my father told me

(R) very excited

(S) that i could go with him

A. PQRS
B. SQRP
C. RQSP
D. SQPR

Solution : The correct order is RQSP : I
was very excited when my father told
me that i could go with him And stay for
a few days in Delhi.”

Hence, the correct answer is option C.
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8. All animals have
P : have memory
Q : animals do not
R : sensation but some
1) QRP
2) PRQ
3) RQP
4) PQR

Correct Answer: RQP
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9. Attaining long-term food
P : security requires the
Q : raising of incomes and

R : making food affordable M
1) PRQ

2) QRP
3) PQR
4) RPQ

Correct Answer: PQR
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Home Work

N/

The need
A : the highways has
B : been felt over the years
C : to curb drunken driving on
1) BCA
2) CAB
3) BAC
4) ACB
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